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Homework 7-5 5o e

1. 4 Warmup w/ #6 from
yesterday's notes

2a.7/25 b.-24/25 c.-7/24  d.163.7°
3a.-5/13b.-12/13 c¢.5/12 d.202.6°

4. sin(B) = -3/5 cos(0) = -4/5 tan(0)=3/4

5. sin(B) = 5/V29 cos(B) = -2/~29 tan(8)= -5/2
6. A 7.3

Aug 13-7:55 PM

Name: 4{#2% R Algebra 2 Homework 7-5

Period:

1. Which diagram(right) represents an angle. a , measuring \ N

m—” radians drawn in standard position, and its

reference angle, #2 (Regents question)
fere, o = whole *
G = i *
& ,@,Lﬂ"_ W[Lé
W if aﬁ@vl

For#2-4:  a.Whatissin()? @ @
b. Whatis cos(B)2

<. Whatis tan(8)?
d. Find angle 8 fo the nearest fenth.

2.The angle 6 corresponds to the angle between the posiiive x-axis and the line between the origin

and 1he point [ 24 7) | on the unit circle. Stat 1
unr Clrc e. aie your answers as dn exact ex resS}OnS
2525 v e ot

. s
a) s @) /;»Lz - /p‘uf RN

b) s 0@04* S0 () = 103°
=80 [ 3 =/63:7°

3. The angle 6 corresponds to the cmgle between the positive x-axis and the line between the origin

A
and the point (% %J on the unit circle. State your answers as an exact expressions.
s . QI

UQ) )'%3 @)-,}’3 = / ~
b) )3 U?) o</ w"(’) 26 il

@= K076 =900
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(x
4. a po‘\nt"a?)ﬁhe terminal side of 0 in standard posifion. Find the exact values of sin(8).
cos{B) and tan(e).

5. P(-2, 5)is a point on the terminal side of 8 in standard position. Find the exact values of sin(8),

cos(6) and tan(s).
2 *+5 —X ¥ : :E
2 ios e
A 9~7 + )( ((9 o
() <5

é. A circle centered at the origin has a radius on 10 units. The terminal side of an angle, 8,
intercepts the circle in Quadrant It at point C. The y-coordinate of point C is 8. What is the.
value of cos(8)? (Regents question)

@_i b -3 e 3 a4
5 T4 5 5
[
e -3
(’,05{95/ e - ;E‘;
(-&ﬁlf‘;"'u)

I E
7. The function f{x)=2"*" sint%xﬁprcsems a damped seund wave function. What is the

average rate of change Br this function on the ime the nearest hundredth?
- c%(‘r)

Fegents Question Sl
AT oo D= /"'/ﬂ\ = 097
(2) -0.30 (4) 336

(7) = [ﬂ"ﬂ) PER

A\
EESTR e I s

P (-4, 3l¥% a point on the terminal side of 6 in standard position. Find the g

4l (® 5084 = @]

Warm- up #6 from yesterday's nc%es

values of sin(8), cos(8) and tan(a). —;5__ |
-2 m S.f’\.@': a3

-3 - a Tk =
(7 (U= et

A O

T

volue?f sin(8), cos(e) and tan(e). Qo ;E-_ . %

6. P[-2,-3) is a point on fhe terminal side of 8 in standard position. Find ih?wd

—ex —-= =
4+ q tav ==

Aug 9-4:51 PM
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(-~ =1
55 a point on the terminal side of 6 in standard position. Find the exact
values of sin(8), cos(e) and tan(e). s qj__ _ ﬁ[_ )‘l
R oz @
S'.k ~
s R TR CT
< v v (o & 7 M 11
VL =)wsT= ¢ -_s
It +25= ¢t 46 ~ 2
Yl=c*
c= 11
P(-2, -3) is a point on the terminal side of & in standard position. Find the
Values of sin(8), cos(8) and tan(8). -3 , 3 "ﬂ
(\/% Sinb- T 2 rn?_ - 2
-. :—:_1_-‘— . ,Lﬁ- - -g@—
2 o5 =S
’51%1 Camb—==2 >
-2 A
2V (="
44+ =+
(v = ¢
c=3
Aug 9-4:51 PM

Day é: Pythagorean Identity

Aug 9-4:52 PM
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= SiA&-
a2 2 ‘éd/\ﬂ
Pythagorean Theorem: (03 “’L = Q COSQ'
On the unit circle: (—: ]
Remember: x=_C0S g andy = 57’\8' 50 0) = X o
Pythagorean Identity: S i~ oG =
~ __ @,-1)
(it‘\@*B +( (@5 —'/ Y
f 2
g
Aug 9-4:53 PM
e S
Examples: /'-’\ '
1. Using the Pythagorean Identity, given(sinfej = .4)find | cos(8) | and |tan(8)].
* \g-= Ia— AS- - £
Sia S + ¢S 5= | 059’:—*—.'% £fa 8.:1— - ——X—,
.(1)1+w529.:| - +%] b -—_5
36 + (6578 =3‘£ | ase = l - tomd=.15 Ty

5 (Go=-3
< Cos™o=(. 04
2. Using the Pythagorean Identity, given cos(6) =5/13 , and angle 8 s if(quadrant IV,

find sin(6) and tan(s). + =
S 0= | ‘S, == 13
sae Y&V =/ <
2 + 25 = ( AR P
SI’)IG' 769 “}(: j\+

~g={/} & in=—
St 49——-(/8‘;% ;- 9,:—_127—
S:nxa_:léj_‘):_s (K4 >

69 167 | togmln = . BB 6
Sin‘&:@ >3 & 5

/69

Aug 9-4:53 PM
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3. Using the |denh‘r\/é‘m2 B) +cos?(8) =1(f cos(B) is —0.7 ghd 6 is in Quad\ll

a. Find sin(B) to the nearest tenth.

)0\1&-‘—( —,)L_,
g+ 9% <)

9 T (=
\}:n‘&

6—‘_57
b. Finnd m<8 to the neqrest tenth.
_ o+ =
Cog= L

M 3*\’(:73"(710/7 OL—'W

0 :/30—7«/.7@

-2 S;~at

e

D

A
T C

Aug 9-4:54 PM

$\r\zf9- +Cos S = \

4. If sin2[328¢ cos?(M) =1, then M equals
@ b. 58°  c. 68°  d.72°

5. Using the Pythagorean Identity, given cos(g) =
find sin[8) and tan(8) fo the nearest tenth.

- 0.5, and angle 8 is in quadrant I,

Aug 9-4:54 PM
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Sin O +0s @ = [

4. If sin?(32°)+cos?(M) =1, then M equals
G 329 b.58 ¢ 68  d.72°

5. Using the Pythagorean Identity, givenfcos(8) = - 0.5 fand angle 8 s in quodron 1l

find sm[e} and ian[e} to the nearest tenth. S
S ALS +c0s W= | T
SIS = | S8 _a,_
Soe= | — LS =75 {_%(9_ coH— -S
s/l'h 13' = ‘—75
Sin@- =19

1T~ sen— Smg”@

Aug 9-4:54 PM

raw a gleh standard position giverf cos(8) = - 1/2, ncﬂ angle 8;'3 in
quadra Use the Tnangle to find sin(8] and fan(B] 1o The naarest tepih-
= w (-9
=2 S;f\&"‘ 9:5_
G MR L LD,
Q;)’*—»b =2 =~/

|
B >4
14 8=
2] S
b= %

7. Using the Pythagorean Identity, given sin(8) = - 7/10, and angle & is in quadrant
IV, find the exact values of cos{8) and tan(8).

8. If sinZ(0)+cos(tm) =1, then 6 eguals
a. -6 b.m/3 @ d.m/2

Aug 9-4:54 PM
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—
4. Draw an angle in standard position given cos(8) = - 1/2, and Eﬁgle ai

() 1 b
e b-—‘/I—S—’» b= 3

find the exact values of cos(6) and tan[By—

(ZEV-+ LsTB=/

quodro Use the triangle to find sin[e} and Ion[e] to the neorez tenth. )

=
-\(hs sme=f== &=
G ta="2- 3 = 1.7
3 4 3

7. Using the Pythagorean Identity, given sin{d) = - 7/10, giAd angle B is in quadrant
i

CUS 5_ / - 949 e 41 T @
(I/ ‘ ) 100 r/ A
Cos =0 (51) tomb=J3

- G —>(@se= =% o
CD 9’ ’64’\6’—' (-__‘—z S
8. If sin?(g)+cos?(m) =1, ’rhen 8 uals S) )
a. -6 b.m/3 @ d. /2
Aug 9-4:54 PM
yesterday's

Application Word Problems:

1. A bicycle wheel with a radius of 13" has a valve cap positioned at the highest point of

the wheel. If the wheelis spun 7507 in one direction, how high is the valve cap above the
ground? Round your answer to the nearest tenth of an inch.

Aug 9-4:52 PM



Day 6 - per8-9Pythagorean Identity.notebook

December 19, 2019

Application Word Problems: =\>

720

1. A bicycle wheel with a radius of 13" has a valve cap pesitioned at the highest point of

the wheel, If the wheelis spur{\?_s_[@'one direchan, _how high is thivcnlve cap above the
ground? Round ycur answer to the neareg an inch. 3&0

Aug 9-4:52 PM
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